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BC Calculus - Unit 3 - Composite, Implicit, & Inverse Functions - Test Review Worksheet ke

Show all appropriate work!
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' | Find the derivative. .~
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["For each problem, let f and g be dillerentiable functions where g(x) = f71(x) forallx. ' =i L )]

5. f(6)=-1,f(4) ==2,f'(6) =3,and f'(4) =
7. What is the value of g’'(—1)?
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6. Let f be the function defined by
f(x)=x3+3x+1. Let g(x) = f~1(x), where
g(=3) = —1. What is the value of g'(—3)?
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Find E;z based on thg given i_nformation._y |
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12. Let f and g be differentiable functions where g(x) = f~1(x) forallx. f(6) =8, f(8) =2, f'(6) = -3,

and f'(8) = 4. What is the value of g'(8)?
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| Evaluate the 2™ denvatlve at the given point. . .. . i
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19. Find the equation of the tangent line to g~1(x) at x = 3.
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[Find the equation of the tangent Line at the given point. .| 5.0 1|

P T == T
P R AR R R R e TR O e B T
e ‘%ka;%“x S ST

7. 4x® = —5xy + 4y at (1,—-4)
|2=£5) (4)+(5(4) +4 (2
,‘;—'}(-Sx‘r 4)

leQ-tSi _dy ‘i’
“oxti4 dx | dx

| 9.x2+ Sj =
12 (+l)2+5(-u1
N =50y
(1-4)

(Q 44| -1g-ae -5

Pon'r\"l'-. ('J-H)

8. y =arccos(5x) atx = —1—‘[:-

) -5 -5

9. h(x) = @x—13(x+2)at

-5

g = - ~
Vi-(sx)? (F‘JSX"}

3 5{-7?)2073;@ 7
W - g
j{f.}:l/————f,/‘f 3
lj{'%';‘; =afcw$(-:€i‘§

S’opc-. m=%

:a/fWS(‘g) _’517
> 4

-5
7l

x=1.
TR
W) =30 3)+ (1) = |4

hin)=(1){3)=3




